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D erivelassiguientesfunciones
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d µ (csc µ (µ + c ot µ)) = ¡(csc µ (µ + c ot µ)c ot µ (µ + cot µ))(µ + cot µ¡µ c ot2 µ)
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Example4 d
d x (sin(sin(sinx))) = c os(sin(sinx))cos(sinx)c osx
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d x(2

sin¼x) = 2 sin¼x (cos¼x)¼ ln2
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Example 7 Encuentre d y
d x usandodiferenciacionimplicita

²pxy= 1 + x2y D erivative: 1
2
p
(xy)

(y+ xy0) = 2 xyx0+ x2y0

²x c osy+ yc osx = 1 D erivative: c os(y)¡x(sin(y))y0+ y0c osx¡ysinx = 0

²c os(x¡y) = xex D erivative: ¡(sin(x¡y))(1¡y0) = ex + xex

Example8 Veri…quelasiguientelinealizaciondadaalrededordea = 0
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2 x

²tanx¼x

²ex¼1 + x

Example9 Expliqueporquelaaproximaciónesrazonable

²ln1:0 5¼0:0 5

²(1:0 6)6¼1:0 6

R emark1 f(x)¼f(a)+ f0(a)(x¡a) f(a + d x)¼f(a)+ d y
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L(x) = f(1)+ f0(1)(x¡1) = 2 + 1
4 (x¡1) = 7
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